

A COMBINATORIAL CHARACTERIZATION OF THE GENERALIZED EXPONENTIAL AND FUBINI POLYNOMIALS

EMANUELE MUNARINI

ABSTRACT. In this paper, we show that the generalized exponential polynomials and the generalized Fubini polynomials satisfy certain binomial identities and that these identities characterize the mentioned polynomials (up to an affine transformation of the variable) among the class of the normalized Sheffer sequences.

1. INTRODUCTION

The *generalized exponential polynomials* $S_n^{(\nu)}(x)$ are defined by the exponential generating series

$$(1) \quad S^{(\nu)}(x; t) = \sum_{n \geq 0} S_n^{(\nu)}(x) \frac{t^n}{n!} = e^{\nu t} e^{x(e^t - 1)}$$

and can be written explicitly as

$$S_n^{(\nu)}(x) = \sum_{k=0}^n S_{n,k}^{(\nu)} x^k$$

where the coefficients $S_{n,k}^{(\nu)}$ are the *generalized Stirling numbers of the second kind*. For $\nu = r \in \mathbb{N}$, we have the *r-exponential polynomials* [7], whose coefficients are the *r-Stirling numbers of the second kind* [2]. In particular, for $\nu = 0$, we have the ordinary *exponential polynomials* $S_n(x)$ [15, p. 63]. From series (1), we have that the generalized exponential polynomials can be expressed in terms of the ordinary exponential polynomials, namely

$$S_n^{(\nu)}(x) = \sum_{k=0}^n \binom{n}{k} \nu^{n-k} S_k(x).$$

The *generalized Bell numbers* $b_n^{(\nu)}$ are defined by setting $x = 1$ in the generalized exponential polynomials, i.e. $b_n^{(\nu)} = S_n^{(\nu)}(1) = \sum_{k=0}^n S_{n,k}^{(\nu)}$, and consequently have exponential generating series

$$(2) \quad \sum_{n \geq 0} b_n^{(\nu)} \frac{t^n}{n!} = e^{\nu t} e^{e^t - 1}.$$

Date: September 8, 2022.

2020 Mathematics Subject Classification. Primary: 05A19; Secondary: 05A15, 11B73.

Key words and phrases. Combinatorial sum, binomial sum, Sheffer sequence, exponential Riordan matrix.

For $\nu = r \in \mathbb{N}$, we have the r -Bell numbers [7], and, in particular, for $\nu = 0$, we have the ordinary Bell numbers b_n [4, p. 210] [18, A000110]. Notice that the generalized Bell numbers can be expressed in terms of the ordinary Bell numbers:

$$b_n^{(\nu)} = \sum_{k=0}^n \binom{n}{k} \nu^{n-k} b_k.$$

The *generalized Fubini polynomials* $F_n^{(\nu)}(x)$ are defined by the exponential generating series

$$(3) \quad F^{(\nu)}(x; t) = \sum_{n \geq 0} F_n^{(\nu)}(x) \frac{t^n}{n!} = \frac{e^{\nu t}}{1 - x(e^t - 1)}$$

and can be written explicitly as

$$F_n^{(\nu)}(x) = \sum_{k=0}^n S_{n,k}^{(\nu)} k! x^k.$$

For $\nu = r \in \mathbb{N}$, we have the r -Fubini polynomials [8, 9] and, in particular, for $\nu = 0$, we have the ordinary Fubini polynomials $F_n(x)$ [19] (or *ordered Bell polynomials*, or *De Morgan polynomials* [5, 11]). From series (3), we have that the generalized Fubini polynomials can be expressed in terms of the ordinary Fubini polynomials, namely

$$F_n^{(\nu)}(x) = \sum_{k=0}^n \binom{n}{k} \nu^{n-k} F_k(x).$$

The *generalized Fubini numbers* $F_n^{(\nu)}$ are defined by setting $x = 1$ in the generalized Fubini polynomials, i.e. $F_n^{(\nu)} = F_n^{(\nu)}(1) = \sum_{k=0}^n S_{n,k}^{(\nu)} k!$, and consequently have exponential generating series

$$(4) \quad \sum_{n \geq 0} F_n^{(\nu)} \frac{t^n}{n!} = \frac{e^{\nu t}}{2 - e^t}.$$

For $\nu = r \in \mathbb{N}$, we have the r -Fubini numbers [9], and, in particular, for $\nu = 0$, we have the ordinary Fubini numbers F_n [3] [4, p. 228] [6] [18, A000670], or *ordered Bell numbers* [10]. Notice that the generalized Fubini numbers can be expressed in terms of the ordinary Fubini numbers:

$$F_n^{(\nu)} = \sum_{k=0}^n \binom{n}{k} F_{n-k} \nu^k.$$

A *Sheffer sequence* [1, 15, 16, 17] is a polynomial sequence $\{s_n(x)\}_{n \geq 0}$ having exponential generating series

$$(5) \quad \sum_{n \geq 0} s_n(x) \frac{t^n}{n!} = g(t) e^{xf(t)}$$

where $g(t) = \sum_{n \geq 0} g_n \frac{t^n}{n!}$ and $f(t) = \sum_{n \geq 0} f_n \frac{t^n}{n!}$ are two exponential series with $g_0 \neq 0$, $f_0 = 0$ and $f_1 \neq 0$. A *normalized Sheffer sequence* is a Sheffer sequence with $g_0 = 1$.

A Sheffer matrix is an infinite lower triangular matrix $S = [s_{n,k}]_{n,k \geq 0}$ whose k -th column has exponential generating series

$$\sum_{n \geq k} s_{n,k} \frac{t^n}{n!} = g(t) \frac{f(t)^k}{k!}$$

where $g(t) = \sum_{n \geq 0} g_n \frac{t^n}{n!}$ and $f(t) = \sum_{n \geq 0} f_n \frac{t^n}{n!}$ are two exponential series with $g_0 \neq 0$, $f_0 = 0$ and $f_1 \neq 0$. In this case, we say that S has spectrum $(g(t), f(t))$ and we write $S = (g(t), f(t))$. The row polynomials of S are defined by

$$s_n(x) = \sum_{k=0}^n s_{n,k} x^k$$

and form a Sheffer sequence $\{s_n(x)\}_{n \geq 0}$ with exponential generating series (5). On the other hand, given a Sheffer sequence $\{s_n(x)\}_{n \geq 0}$, the matrix $S = [s_{n,k}]_{n,k \geq 0}$ of the coefficients is the Sheffer matrix with spectrum $(g(t), f(t))$.

Given a Sheffer sequence $\{s_n(x)\}_{n \geq 0}$, with Sheffer matrix $S = [s_{n,k}]_{n,k \geq 0} = (g(t), f(t))$, the associated sequence $\{s_n^*(x)\}_{n \geq 0}$ is defined by the polynomials

$$s_n^*(x) = \sum_{k=0}^n s_{n,k} k! x^k$$

with exponential generating series

$$(6) \quad \sum_{n \geq 0} s_n^*(x) \frac{t^n}{n!} = \frac{g(t)}{1 - xf(t)}.$$

The associated polynomials $s_n^*(x)$ are essentially the Laplace transform of the polynomials $s_n(x)$, since we have the following integral relation

$$s_n^*(x) = \int_0^{+\infty} s_n(xz) e^{-z} dz.$$

Notice that the space \mathcal{S} of the Sheffer sequences and the space \mathcal{S}^* of the associated Sheffer sequences are both closed under affine transformations of the variable. Indeed, if $\{s_n(x)\}_{n \geq 0}$ is a (normalized) Sheffer sequence with spectrum $(g(t), f(t))$, then, for every constant $\alpha \neq 0$ and β , the sequence $\{s_n(\alpha x + \beta)\}_{n \geq 0}$ is a (normalized) Sheffer sequence with spectrum $(g(t)e^{\beta f(t)}, \alpha f(t))$, since

$$\sum_{n \geq 0} s_n(\alpha x + \beta) \frac{t^n}{n!} = g(t) e^{(\alpha x + \beta)f(t)} = g(t) e^{\beta f(t)} \cdot e^{\alpha x f(t)}.$$

Similarly, if $\{s_n^*(x)\}_{n \geq 0}$ is an associated Sheffer sequence with spectrum $(g(t), f(t))$, then, for every constant $\alpha \neq 0$ and β , the sequence $\{s_n^*(\alpha x + \beta)\}_{n \geq 0}$ is an associated Sheffer sequence with spectrum $\left(\frac{g(t)}{1 - \beta f(t)}, \frac{\alpha f(t)}{1 - \beta f(t)}\right)$, since

$$\sum_{n \geq 0} s_n^*(\alpha x + \beta) \frac{t^n}{n!} = \frac{g(t)}{1 - (\alpha x + \beta)f(t)} = \frac{g(t)}{1 - \beta f(t)} \frac{1}{1 - x \frac{\alpha f(t)}{1 - \beta f(t)}}.$$

Finally, notice that the generalized exponential polynomials form a Sheffer sequence with spectrum $(e^{\nu t}, e^t - 1)$, while the generalized Fubini polynomials are the associated sequence. In particular, as just remarked, these polynomials are related by the identity

$$F_n^{(\nu)}(x) = \int_0^{+\infty} S_n^{(\nu)}(xz) e^{-z} dz.$$

In this paper, we show that the generalized exponential polynomials and the generalized Fubini polynomials satisfy certain binomial identities and that these identities characterize the mentioned polynomials (up to an affine transformation of the variable) in the class of the normalized Sheffer sequences.

2. FIRST CHARACTERIZATION

We start by proving (in Theorem 1) that the generalized exponential polynomials satisfy a binomial identity. Since this identity is of the form $F(s_0(x), s_1(x), \dots, s_n(x))$, with $F(x_0, x_1, \dots, x_n) \in \mathbb{R}[x_0, x_1, \dots, x_n]$, it is satisfied by all sequences of the form $\{s_n(\alpha x + \beta)\}_{n \geq 0}$. However, we will prove (in Theorem 3) that such an identity characterizes the generalized exponential polynomials in the class of normalized Sheffer sequences, up to an affine transformation of the variable.

Theorem 1. *The generalized exponential polynomials satisfy the binomial identity*

$$(7) \quad \begin{aligned} \sum_{k=0}^n \binom{n}{k} S_{k+1}^{(\nu)}(x) S_{n-k}^{(\nu)}(x) + \sum_{k=0}^n \binom{n}{k} S_{k+1}^{(\nu)}(x) S_{n-k+1}^{(\nu)}(x) = \\ = \sum_{k=0}^n \binom{n}{k} S_{k+2}^{(\nu)}(x) S_{n-k}^{(\nu)}(x) + \nu \sum_{k=0}^n \binom{n}{k} S_k^{(\nu)}(x) S_{n-k}^{(\nu)}(x). \end{aligned}$$

In particular, for $\nu = 0$, we have that the exponential polynomials satisfy the identity

$$(8) \quad \sum_{k=0}^n \binom{n}{k} S_{k+1}(x) S_{n-k}(x) + \sum_{k=0}^n \binom{n}{k} S_{k+1}(x) S_{n-k+1}(x) = \sum_{k=0}^n \binom{n}{k} S_{k+2}(x) S_{n-k}(x).$$

Proof. Consider series (1) and, for simplicity, set $S = S^{(\nu)}(x; t)$. Differentiating two times with respect to t , we have

$$\frac{\partial S}{\partial t} = \nu e^{\nu t} e^{x(e^t-1)} + x e^t e^{\nu t} e^{x(e^t-1)} = \nu S + x e^t S$$

and

$$\frac{\partial^2 S}{\partial t^2} = \nu \frac{\partial S}{\partial t} + x e^t S + x e^t \frac{\partial S}{\partial t}.$$

From the first equation, we have

$$(*) \quad x e^t S = \frac{\partial S}{\partial t} - \nu S.$$

So, by replacing this expression in the second equation, we have

$$\frac{\partial^2 S}{\partial t^2} = (\nu + 1) \frac{\partial S}{\partial t} - \nu S + xe^t \frac{\partial S}{\partial t}.$$

Then, by multiplying both sides by S , we have

$$\frac{\partial^2 S}{\partial t^2} S = (\nu + 1) \frac{\partial S}{\partial t} S - \nu S^2 + xe^t S \frac{\partial S}{\partial t}.$$

Using again identity (*), we have

$$\frac{\partial^2 S}{\partial t^2} S = \frac{\partial S}{\partial t} S - \nu S^2 + \left(\frac{\partial S}{\partial t}\right)^2$$

or

$$\frac{\partial S}{\partial t} S + \left(\frac{\partial S}{\partial t}\right)^2 = \frac{\partial^2 S}{\partial t^2} S + \nu S^2.$$

This equation is equivalent to identity (7). □

As an immediate consequence of Theorem 1, for $x = 1$, we have the following result.

Theorem 2. *The generalized Bell numbers satisfy the identity*

$$(9) \quad \sum_{k=0}^n \binom{n}{k} b_{k+1}^{(\nu)} b_{n-k}^{(\nu)} + \sum_{k=0}^n \binom{n}{k} b_{k+1}^{(\nu)} b_{n-k+1}^{(\nu)} = \sum_{k=0}^n \binom{n}{k} b_{k+2}^{(\nu)} b_{n-k}^{(\nu)} + \nu \sum_{k=0}^n \binom{n}{k} b_k^{(\nu)} b_{n-k}^{(\nu)}.$$

In particular, for $\nu = 0$, we have that the Bell numbers satisfy the identity

$$(10) \quad \sum_{k=0}^n \binom{n}{k} b_{k+1} b_{n-k} + \sum_{k=0}^n \binom{n}{k} b_{k+1} b_{n-k+1} = \sum_{k=0}^n \binom{n}{k} b_{k+2} b_{n-k}.$$

Now, we prove the converse of Theorem 1, i.e. that identity (7) essentially characterizes the generalized exponential polynomials.

Theorem 3. *If $\{s_n(x)\}_{n \in \mathbb{N}}$ is a normalized Sheffer sequence satisfying the binomial identity*

$$(11) \quad \begin{aligned} & \sum_{k=0}^n \binom{n}{k} s_{k+1}(x) s_{n-k}(x) + \sum_{k=0}^n \binom{n}{k} s_{k+1}(x) s_{n-k+1}(x) = \\ & = \sum_{k=0}^n \binom{n}{k} s_{k+2}(x) s_{n-k}(x) + \nu \sum_{k=0}^n \binom{n}{k} s_k(x) s_{n-k}(x), \end{aligned}$$

then

$$(12) \quad s_n(x) = S_n^{(\nu)}(\alpha x + \beta)$$

where α and β are arbitrary constants (with $\alpha \neq 0$).

Proof. Since $\{s_n(x)\}_{n \in \mathbb{N}}$ is a normalized Sheffer sequence, its exponential generating series is

$$S(x; t) = \sum_{n \geq 0} s_n(x) \frac{t^n}{n!} = g(t) e^{xf(t)}$$

where $g_0 = 1$. Identity (11) is equivalent to the equation

$$\frac{\partial S}{\partial t} S + \left(\frac{\partial S}{\partial t}\right)^2 = \frac{\partial^2 S}{\partial t^2} S + \nu S^2$$

where $S = s(x; t)$. Since

$$\begin{aligned}\frac{\partial S}{\partial t} &= g' e^{xf} + x g f' e^{xf} \\ \frac{\partial^2 S}{\partial t^2} &= g'' e^{xf} + 2x g' f' e^{xf} + x g f'' e^{xf} + x^2 g f'^2 e^{xf},\end{aligned}$$

the above equation becomes

$$(g' + x g f') g e^{2xf} + (g' + x g f')^2 e^{2xf} = (g'' + 2x g' f' + x g f'' + x^2 g f'^2) g e^{2xf} + \nu g^2 e^{2xf}.$$

Simplifying by the exponential e^{2xf} , we obtain the equation

$$g g' + x g^2 f' + g'^2 + 2x g g' f' + x^2 g^2 f'^2 = g g'' + 2x g g' f' + x g^2 f'' + x^2 g^2 f'^2 + \nu g^2,$$

that is the equation

$$g g' + g'^2 - g g'' - \nu g^2 + x(g^2 f' + 2g g' f' - 2g g' f' - g^2 f'') = 0$$

which is equivalent to the differential system

$$(**) \quad \begin{cases} g g'' - g'^2 - g g' + \nu g^2 = 0 \\ g^2 f'' - g^2 f' = 0. \end{cases}$$

Let us consider the first equation, depending only on g . Setting $z = g'/g$, we have $z' = (g g'' - g'^2)/g^2$, and consequently

$$g^2 z' - g^2 z + \nu g^2 = 0.$$

Simplifying by g^2 , we obtain the differential equation

$$z' = z - \nu.$$

Hence, we have

$$\int \frac{dz}{z - \nu} = \int dt$$

that is

$$\ln(z - \nu) = t + c \quad \text{or} \quad z = \nu + \beta e^t$$

where β is an arbitrary constant with respect to t . Since $z = g'/g$, we have

$$\frac{g'}{g} = \nu + \beta e^t$$

that is

$$\ln g = \nu t + \beta e^t + c$$

that is

$$g(t) = C e^{\nu t} e^{\beta(e^t - 1)}$$

where C is an arbitrary constant with respect to t . Since $g_0 = 1$, we have $C = 1$ and

$$g(t) = e^{vt} e^{\beta(e^t-1)}.$$

Let us now consider the second equation of the differential system (**). Simplifying by g^2 , we have $f'' = f'$, that is $f' = f + \alpha$. Hence, we have

$$\int \frac{f'(t)}{f(t) + \alpha} dt = \int dt$$

that is

$$\ln(f(t) + \alpha) = t + K = t + \ln \alpha = \ln \alpha e^t$$

being $f_0 = 0$. So

$$f(t) = \alpha(e^t - 1).$$

In conclusion, we have the generating series

$$S(x;t) = e^{vt} e^{\beta(e^t-1)} e^{x\alpha(e^t-1)} = e^{vt} e^{(\alpha x + \beta)(e^t-1)} = S^{(\nu)}(\alpha x + \beta; t)$$

and consequently identity (12). □

3. SECOND CHARACTERIZATION

Also in this case, we start by proving (in Theorem 4) that the generalized Fubini polynomials satisfy a binomial identity, and then we prove (in Theorem 6) that such an identity characterizes these polynomials among the normalized Sheffer sequences, up to an affine transformation of the variable.

Theorem 4. *The generalized Fubini polynomials satisfy the binomial identity*

$$(13) \quad \begin{aligned} (1 - 2\nu) \sum_{k=0}^n \binom{n}{k} F_{k+1}^{(\nu)}(x) F_{n-k}^{(\nu)}(x) + 2 \sum_{k=0}^n \binom{n}{k} F_{k+1}^{(\nu)}(x) F_{n-k+1}^{(\nu)}(x) = \\ = \sum_{k=0}^n \binom{n}{k} F_{k+2}^{(\nu)}(x) F_{n-k}^{(\nu)}(x) + \nu(1 - \nu) \sum_{k=0}^n \binom{n}{k} F_k^{(\nu)}(x) F_{n-k}^{(\nu)}(x). \end{aligned}$$

In particular, for $\nu = 0$, we have that the Fubini polynomials satisfy the identity

$$(14) \quad \sum_{k=0}^n \binom{n}{k} F_{k+1}(x) F_{n-k}(x) + 2 \sum_{k=0}^n \binom{n}{k} F_{k+1}(x) F_{n-k+1}(x) = \sum_{k=0}^n \binom{n}{k} F_{k+2}(x) F_{n-k}(x).$$

Proof. Consider series (3) and, for simplicity, set $F = F^{(\nu)}(x;t)$. Differentiating two times with respect to t , we have

$$\frac{\partial F}{\partial t} = \frac{\nu e^{vt}}{1 - x(e^t - 1)} + \frac{x e^t e^{vt}}{(1 - x(e^t - 1))^2} = \nu F + \frac{x e^t}{1 - x(e^t - 1)} F$$

and

$$\frac{\partial^2 F}{\partial t^2} = \nu \frac{\partial F}{\partial t} + \frac{x e^t}{1 - x(e^t - 1)} F + \frac{x^2 e^{2t}}{(1 - x(e^t - 1))^2} F + \frac{x e^t}{1 - x(e^t - 1)} \frac{\partial F}{\partial t}.$$

From the first equation, we have

$$(\star) \quad \frac{xe^t}{1-x(e^t-1)} F = \frac{\partial F}{\partial t} - \nu F.$$

So, by replacing this expression in the second equation, we have

$$\frac{\partial^2 F}{\partial t^2} = (\nu+1) \frac{\partial F}{\partial t} - \nu F + \frac{x^2 e^{2t}}{(1-x(e^t-1))^2} F + \frac{xe^t}{1-x(e^t-1)} \frac{\partial F}{\partial t}.$$

Then, by multiplying both sides by F , we have

$$\frac{\partial^2 F}{\partial t^2} F = (\nu+1) \frac{\partial F}{\partial t} F - \nu F^2 + \left(\frac{xe^t}{1-x(e^t-1)} F \right)^2 + \frac{xe^t}{1-x(e^t-1)} F \frac{\partial F}{\partial t}.$$

Using again identity (\star) , we have

$$\begin{aligned} \frac{\partial^2 F}{\partial t^2} F &= (\nu+1) \frac{\partial F}{\partial t} F - \nu F^2 + \left(\frac{\partial F}{\partial t} - \nu F \right)^2 + \left(\frac{\partial F}{\partial t} - \nu F \right) \frac{\partial F}{\partial t} \\ &= (1-2\nu) \frac{\partial F}{\partial t} F - \nu(1-\nu) F^2 + 2 \left(\frac{\partial F}{\partial t} \right)^2 \end{aligned}$$

or

$$(1-2\nu) \frac{\partial F}{\partial t} F + 2 \left(\frac{\partial F}{\partial t} \right)^2 = \frac{\partial^2 F}{\partial t^2} F + \nu(1-\nu) F^2.$$

This equation is equivalent to identity (13). \square

From Theorem 4, with $x = 1$, we immediately have the following specializations.

Theorem 5. *The generalized Fubini numbers satisfy the binomial identity*

$$(15) \quad \begin{aligned} (1-2\nu) \sum_{k=0}^n \binom{n}{k} F_{k+1}^{(\nu)} F_{n-k}^{(\nu)} + 2 \sum_{k=0}^n \binom{n}{k} F_{k+1}^{(\nu)} F_{n-k+1}^{(\nu)} &= \\ &= \sum_{k=0}^n \binom{n}{k} F_{k+2}^{(\nu)} F_{n-k}^{(\nu)} + \nu(1-\nu) \sum_{k=0}^n \binom{n}{k} F_k^{(\nu)} F_{n-k}^{(\nu)}. \end{aligned}$$

In particular, for $\nu = 0$, we have that the Fubini numbers satisfy the identity

$$(16) \quad \sum_{k=0}^n \binom{n}{k} F_{k+1} F_{n-k} + 2 \sum_{k=0}^n \binom{n}{k} F_{k+1} F_{n-k+1} = \sum_{k=0}^n \binom{n}{k} F_{k+2} F_{n-k}.$$

Now, we can prove the converse of Theorem 4.

Theorem 6. *If $\{f_n(x)\}_{n \in \mathbb{N}}$ is a sequence associated with a normalized Sheffer matrix and satisfy the identity*

$$(17) \quad \begin{aligned} (1-2\nu) \sum_{k=0}^n \binom{n}{k} f_{k+1}(x) f_{n-k}(x) + 2 \sum_{k=0}^n \binom{n}{k} f_{k+1}(x) f_{n-k+1}(x) &= \\ &= \sum_{k=0}^n \binom{n}{k} f_{k+2}(x) f_{n-k}(x) + \nu(1-\nu) \sum_{k=0}^n \binom{n}{k} f_k(x) f_{n-k}(x), \end{aligned}$$

then

$$(18) \quad f_n(x) = F_k^{(\nu)}(\alpha x + \beta)$$

where α and β are arbitrary constants (with $\alpha \neq 0$).

Proof. By hypothesis, the exponential generating series of the sequence $\{f_n(x)\}_{n \in \mathbb{N}}$ is of the form

$$F(x;t) = \sum_{n \geq 0} f_n(x) \frac{t^n}{n!} = \frac{g(t)}{1 - xf(t)}$$

where $g(t)$ and $f(t)$ are two exponential series with $g_0 = 1$, $f_0 = 0$ and $f_1 \neq 0$. Then, setting $F = F(x;t)$ for simplicity, identity (17) is equivalent to the equation

$$(*) \quad (1 - 2\nu) \frac{\partial F}{\partial t} F + 2 \left(\frac{\partial F}{\partial t} \right)^2 = \frac{\partial^2 F}{\partial t^2} F + \nu(1 - \nu) F^2.$$

Differentiating two times the generating series F with respect to t , we have

$$\frac{\partial F}{\partial t} = \frac{g'(t)}{1 - xf(t)} + x \frac{g(t)f'(t)}{(1 - xf(t))^2}$$

and

$$\frac{\partial^2 F}{\partial t^2} = \frac{g''(t)}{1 - xf(t)} + x \frac{2g'(t)f'(t) + g(t)f''(t)}{(1 - xf(t))^2} + x^2 \frac{2g(t)f'(t)^2}{(1 - xf(t))^3}.$$

Then, by replacing these expressions in equation (*), we have

$$\begin{aligned} (1 - 2\nu) \left(\frac{g'}{1 - xf} + x \frac{gf'}{(1 - xf)^2} \right) \frac{g}{1 - xf} + 2 \left(\frac{g'}{1 - xf} + x \frac{gf'}{(1 - xf)^2} \right)^2 &= \\ = \left(\frac{g''}{1 - xf} + x \frac{2g'f' + gf''}{(1 - xf)^2} + x^2 \frac{2gf'^2}{(1 - xf)^3} \right) \frac{g}{1 - xf} + \nu(1 - \nu) \left(\frac{g}{1 - xf} \right)^2 \end{aligned}$$

that is

$$\begin{aligned} (1 - 2\nu) \left(gg'(1 - xf) + xg^2f' \right) (1 - xf) + 2 \left(g'(1 - xf) + xgf' \right)^2 &= \\ = \left(g''(1 - xf)^2 + x(2g'f' + gf'') (1 - xf) + 2x^2gf'^2 \right) g + \nu(1 - \nu)g^2(1 - xf)^2 \end{aligned}$$

that is

$$\begin{aligned} \left((1 - 2\nu)gg' + 2g'^2 - gg'' - \nu(1 - \nu)g^2 \right) (1 - xf)^2 + \\ + x \left(g^2f' + 4gg'f' - (2gg'f' + g^2f'') \right) (1 - xf) = 0. \end{aligned}$$

By simplifying by $1 - xf$, we obtain the equation

$$\left((1 - 2\nu)gg' + 2g'^2 - gg'' - \nu(1 - \nu)g^2 \right) (1 - xf) + x \left((1 - 2\nu)g^2f' + 2gg'f' - g^2f'' \right) = 0$$

which is equivalent to the differential system

$$(**) \quad \begin{cases} gg'' - 2g'^2 - (1 - 2\nu)gg' + \nu(1 - \nu)g^2 = 0 \\ g^2f'' - 2gg'f' - (1 - 2\nu)g^2f' = 0. \end{cases}$$

Let us consider the first equation, which depends only on g :

$$gg'' - 2g'^2 - (1 - 2\nu)gg' + \nu(1 - \nu)g^2 = 0.$$

Setting $z = g'/g$, we have $z' = (gg'' - g'^2)/g^2$, and the above equation becomes

$$g^2z' - g^2z^2 - (1 - 2\nu)g^2z + \nu(1 - \nu)g^2 = 0.$$

Simplifying by g^2 , we obtain the differential equation

$$z' = z^2 + (1 - 2\nu)z - \nu(1 - \nu) = (z - \nu)(z - \nu + 1)$$

from which we have

$$\int \frac{dz}{(z - \nu)(z - \nu + 1)} = \int dt$$

that is

$$\ln \frac{z - \nu}{z - \nu + 1} = t + c \quad \text{or} \quad \frac{z - \nu}{z - \nu + 1} = \lambda e^t \quad \text{or} \quad z = \frac{\nu + (1 - \nu)\lambda e^t}{1 - \lambda e^t}$$

where λ is an arbitrary constant with respect to t , $\lambda \neq 1$. Hence, being $z = g'/g$, we have

$$\frac{g'}{g} = \frac{\nu + (1 - \nu)\lambda e^t}{1 - \lambda e^t} = \nu - \frac{\lambda e^t}{1 - \lambda e^t}.$$

So, integrating, we have

$$\ln g = \nu t - \ln(1 - \lambda e^t) + C = \ln \frac{h e^{\nu t}}{1 - \lambda e^t}$$

that is

$$g(t) = \frac{h e^{\nu t}}{1 - \lambda e^t}$$

where h is an arbitrary constant with respect to t . Since $g_0 = 1$, we have $h = 1 - \lambda$, and consequently

$$g(t) = \frac{(1 - \lambda) e^{\nu t}}{1 - \lambda e^t} = \frac{(1 - \lambda) e^{\nu t}}{1 - \lambda - \lambda(e^t - 1)} = \frac{e^{\nu t}}{1 - \frac{\lambda}{1 - \lambda}(e^t - 1)}.$$

Setting $\beta = \frac{\lambda}{1 - \lambda}$, we have

$$g(t) = \frac{e^{\nu t}}{1 - \beta(e^t - 1)}$$

where β is an arbitrary constant with respect to t .

Let us now consider the second equation of the differential system (**). Simplifying by g , we have

$$gf'' - 2g'f' - (1 - 2\nu)gf' = 0.$$

Then, dividing by gf' both the sides, we have

$$\frac{f''}{f'} = 2 \frac{g'}{g} + 1 - 2\nu.$$

Integrating, we have

$$\ln f' = 2 \ln g + (1 - 2\nu)t + a = \ln \alpha g^2 e^{(1-2\nu)t}$$

where $a = \ln \alpha$. So

$$f'(t) = \alpha g(t)^2 e^{(1-2\nu)t} = \frac{\alpha e^t}{(1 - \beta(e^t - 1))^2}.$$

For $\beta \neq 0$, integrating we have

$$f(t) = \frac{\alpha}{\beta} \frac{1}{1 - \beta(e^t - 1)} + K.$$

Since $f_0 = 0$, we have $K = \frac{\alpha}{\beta}$, and consequently

$$f(t) = \frac{\alpha}{\beta} \frac{1}{1 - \beta(e^t - 1)} - \frac{\alpha}{\beta} = \frac{\alpha(e^t - 1)}{1 - \beta(e^t - 1)}.$$

In conclusion, we have the generating series

$$F(x; t) = \frac{e^{\nu t}}{1 - \beta(e^t - 1)} \frac{1}{1 - x \frac{\alpha(e^t - 1)}{1 - \beta(e^t - 1)}} = \frac{e^{\nu t}}{1 - (\alpha x + \beta)(e^t - 1)} = F^{(\nu)}(\alpha x + \beta; t)$$

and consequently we have identity (18). Similarly, for $\beta = 0$. \square

REFERENCES

- [1] R. P. Boas Jr., R. C. Buck, *Polynomial Expansions of Analytic Functions*, Academic Press, New York, 1964.
- [2] A. Z. Broder, *The r -Stirling numbers*, Discrete Math. **49** (1984), 241–259.
- [3] A. Cayley, *On the analytical forms called trees, second part*, Philosophical Magazine, Series IV, **18** (121) (1859), 374–378. In *Collected Works of Arthur Cayley*, p. 113.
- [4] L. Comtet, *Advanced Combinatorics*, Reidel, Dordrecht-Holland, Boston, 1974.
- [5] O. M. D'Antona, E. Munarini, *A combinatorial interpretation of the connection constants for persistent sequences of polynomials*, European J. Combin. **26** (2005), 1105–1118.
- [6] O. A. Gross, *Preferential arrangements*, Amer. Math. Monthly **69** (1962), 4–8.
- [7] I. Mező, *The r -Bell numbers*, J. Integer Seq. **14** (2011), Article 11.1.1.
- [8] I. Mező, *Recent developments in the theory of Stirling numbers*, RIMS Kôkyûroku No. 2013, 68–80.
- [9] I. Mező, *Periodicity of the last digits of some combinatorial sequences*, J. Integer Seq. **17** (2014), Article 14.1.1.
- [10] E. Munarini, *Riordan matrices and sums of harmonic numbers*, Appl. Anal. Discrete Math. **5** (2011), 176–200.
- [11] E. Munarini, *Shifting property for Riordan, Sheffer and connection constants matrices*, J. Integer Seq. **20** (2017), Article 17.8.2.
- [12] E. Munarini, *Combinatorial identities for Appell polynomials*, Appl. Anal. Discrete Math. **12** (2018), 362–388.

- [13] E. Munarini, *Combinatorial identities involving the central coefficients of a Sheffer matrix*, Appl. Anal. Discrete Math. **13** (2019), 495–517.
- [14] E. Munarini, *Callan-like identities*, Online J. Anal. Comb. **14** (2019), Article #06.
- [15] S. Roman, *The Umbral Calculus*, Academic Press, New York, 1984.
- [16] S. M. Roman, G.-C. Rota, *The umbral calculus*, Advances in Math. **27** (1978), 95–188.
- [17] I. M. Sheffer, *Some properties of polynomial sets of type zero*, Duke Math. J. **5** (1939), 590–622.
- [18] N. J. A. Sloane, *On-Line Encyclopedia of Integer Sequences*, <http://oeis.org/>.
- [19] S. M. Tanny, *On some numbers related to the Bell numbers*, Canad. Math. Bull. **17** (1974), 733–738.

DIPARTIMENTO DI MATEMATICA, POLITECNICO DI MILANO, PIAZZA LEONARDO DA VINCI 32, 20133 MILANO, ITALY

Email address: emanuele.munarini@polimi.it